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QUESTION 1

On an Nokia 7750 SR, what is the recommended approach for making sure that MTUs between a VPLS and its spoke
IES termination match?

A. Set the service MTU of the VPLS to match the IES MTU.

B. Set the ip-mtu of the IES to match the service MTU of the VPLS.

C. Set the SDP MTU of the IES to match the SDP MTU of the VPLS.

D. Set the MTU of the IES\\'s network port to match the service MTU of the VPLS.

Correct Answer: B

QUESTION 2

Which of the following routes is NOT considered an internal route?

A. A route received from a BGP peer within the same AS.

B. A route originated by a router in a different cluster of the same AS.

C. Aroute received from a BGP peer from a different member AS of a confederation.
D. A route received from a BGP peer from the same member AS of a confederation.

Correct Answer: C

QUESTION 3

Which of the following cannot be used as a matching criterion in route policy statements?
A. Source IP address

B. TCP source port

C. Prefix list

D. Protocol type

Correct Answer: D

QUESTION 4

Click on the exhibit.
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*A:SRC R3# oam lsp-ping prefix 192.10.1.2/32

LSP-PING 192.10.1.2/32: 80 bytes MPLS payload

Seqg=1l, send from intf toRl1l, reply from 10.10.10.2
udp-data-len=32 ttl=255 rtt=2.45ms rc=3 (Egressktr)

——— LSP 192,10.1.2/32 PING Statistics ——-

1 packets sent, 1 packets received, 0.00% packet loss
round-trip min = 2.45ms, avg = 2.45ms, max = 2.45ms, stddev = 0.000ms

*A:SRC_R3#

After the Isp-ping command is executed, which of the following best describe the router\\'s action?

A. MPLS Echo Request packets are sent unlabeled to the prefix 192.10.1.2.

B. MPLS Echo Request packets are sent within the LDP tunnel that are signaled for 192.10.1.2.

C. MPLS Echo Request packets are sent within the RSVP-TE tunnel that are signaled for 192.10.1.2.
D. MPLS Echo Request packets are sent over TCP.

Correct Answer: B

QUESTION 5

Which of the following messages is NOT used in T-LDP operation?
A. Hello message

B. Init message

C. Keepalive message

D. Label Mapping message

E. ACK message

Correct Answer: E
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